57

Mt. Lehman Truck and Trailer Repair LTD

2670 Progressive Way Unit B Abbotsford, BC V2T 6H4, CA repairsmtl@gmail.com 1-(604) 626-6862



Date: 4/29/2025

BIII TO
GOPAL SINGH SIDHU (J STAR TRCUKING LTD.)

P: (604) 825-4218

Remit Payment To
Primary
2670 Progressive Way Unit B
Abbotsford, BC V2T 6H4, CA

Invoice:

Service Order		Terms	Due Date	Authorizer	Customer PO		Unit #
	1060	COD	4/29/2025	GOPAL SIDHU			164
Item	Description	on			Quantity	Rate	Amount
Labor		Slack Adjusters / XI d: 4/29/2025	_1 B/S SLACK ADJUS	TER REPLACED -			\$150.00
Parts	GUNITE S	SLACK ADJUSTER	3		2.00000	\$105.78	\$211.56
						Subtotal	\$361.56
Labor	Chassis /	Cab Hardware / FI	REWALL AIR LEAK F	IXED - Completed: 4/29/2025			\$20.00
						Subtotal	\$20.00
Labor		Black Adjusters / XI d: 4/29/2025	_2 LEFT SLACK ADJU	JSTER REPLACED -			\$75.00
Parts	GUNITE S	SLACK ADJUSTER	?		1.00000	\$103.03	\$103.03
						Subtotal	\$178.03
Labor	Wheels & 4/29/2025		3 LEFT WHEEL SEAL	. REPLACED - Completed:			\$200.00
Parts	WHEEL S	EAL			1.00000	\$64.58	\$64.58
Parts	80W90 GE	EAR OIL			2.50000	\$8.00	\$20.00
						Subtotal	\$284.58
Labor	Chassis /	Chassis / BOTH S	IDE FAIRING SECUR	ED - Completed: 4/29/2025			\$15.00
						Subtotal	\$15.00
Labor		es / Mudflap / BOT D - Completed: 4/2		ENDER WITH MUDFLAPS			\$75.00
Parts	MUDFLAF	PREMIUM			2.00000	\$24.52	\$49.04
						Subtotal	\$124.04
Labor	-	Suspension / Alig	nment / CAB AIR BAC 29/2025	ELEVELING VALVE			\$100.00

Item	Description	Quantity	Rate	Amount
Parts	OEM CAB HEIGHT CONTROL VALVE	1.00000	\$85.65	\$85.65
Parts	CONN DOT 1/4T X 1/8 MPT	2.00000	\$7.92	\$15.84
			Subtotal	\$201.49
Labor	Brakes / Air System / TRAILER AIR LINES SET REPLACED - Completed: 4/29/2025			\$100.00
Parts	TRAILER 3 IN AIR HOSE SET	1.00000	\$184.59	\$184.59
Parts	RED GLAD HAND	1.00000	\$7.78	\$7.78
Parts	BLUE GLAD HAND	1.00000	\$7.78	\$7.78
			Subtotal	\$300.15
Labor	Exhaust / Muffler / EXHAUST STACK REPLACED AND WELDED FROM BEND - Completed: 4/29/2025			\$150.00
			Subtotal	\$150.00
Labor	Chassis / Chassis / XL2 AIR BAG AIR LINES, XL2 LEFT BRAKE POT AIR LINES AND AIR DRYER SECURED, AIR TANK AIR LINES SECURED - Completed: 4/29/2025			\$150.00
			Subtotal	\$150.00
Labor	Engine Cooling System / Waterpump / WATER PUMP ORING REPLACED - Completed: 4/29/2025			\$0.00
Parts	CUMMINS WATER PUMP O RIING	1.00000	\$16.49	\$16.49
Parts	WATER PUMP	3.00000	\$425.58	\$1,276.74
			Subtotal	\$1,293.23
Labor	Brakes / Valves / NEAR TRANSMISSION VALVE FITTING REPLACED - Completed: 4/29/2025			\$75.00
Parts	FITTING	1.00000	\$5.68	\$5.68
			Subtotal	\$80.68
Labor	Exhaust / Exhaust Manifold / EXHAUST MANIFOLD RE SEAL - Completed: 4/29/2025			\$600.00
Parts	27AM12 CAP SCREW MANIFOLD	12.00000	\$17.48	\$209.79
Parts	MAK2097 1050 NUT FLANGED	4.00000	\$20.99	\$83.94
Parts	TURBO STUD	4.00000	\$29.93	\$119.70
Parts	EXHAUT GASKET CUMMINS 3682940	1.00000	\$29.99	\$29.99
Parts	GASKET OIL	1.00000	\$5.90	\$5.90
Parts	GASKET ISX CUMMINS NEW	4.00000	\$17.84	\$71.34
Parts	3 HEAD MANIFOLD EXTRACTOR FROM	3.00000	\$100.00	\$300.00
			Subtotal	\$1,420.66

Item	Description	Quantity	Rate	Amount
Labor	Brakes / Liner / Shoes / TRAILER XL3 RIGHT WHEEL SEAL S-CAM, S-CAM TUBE, BRAKE, SLACKADJUSTER AND DRUM, ANCOR PINS REPLACED - Completed: 4/29/2025			\$350.00
Parts	4707 23K BRAKE KIT	1.00000	\$68.95	\$68.95
Parts	DRUM	1.00000	\$98.85	\$98.85
Parts	CAMSHAFT MERITORQ	1.00000	\$67.45	\$67.45
Parts	RIGHT CAMSHAFT	1.00000	\$48.79	\$48.79
Parts	SEAL TRAILER		\$56.54	\$56.54
Parts	ASA TRL SLACK ADJUSTER		\$95.70	\$95.70
Parts	80W90	2.00000	\$8.00	\$16.00
Parts	TRAILER HUB CUP STEMCO	1.00000	\$26.93	\$26.93
			Subtotal	\$829.21
Labor	Chassis / Chassis / TRUCK MVI INSPECTION - Completed: 4/29/2025			\$225.00
			Subtotal	\$225.00
Labor	Starting / Charging / Starter / STARTER REPLACED (ALL BOLTS WERE SIEZED) - Completed: 4/29/2025			\$350.00
Parts	STARTER 39MT 12V DELCO	1.00000	\$548.58	\$548.58
			Subtotal	\$898.58
Labor	Steering & Suspension / Shocks / Struts / TRAILER ALL 6 SHOCK REPLACED - Completed: 4/29/2025			\$300.00
Parts	SHOCK 85000	6.00000	\$52.59	\$315.54
			Subtotal	\$615.54
Halta 404 N	VIN. AVANCOTIZAZNACOZZO		Laban	ФО 005 00
Unit: 164 VIN: 4V4NC9TK17N452779 License Plate: (AB) 88292P			Labor	\$2,935.00
2007 Volvo VNL		Parts		\$4,212.75
Chassis: 1,933,917 Kilometers		Shop Supplies		\$293.50
		Pre-Charge Subtotal		\$7,441.25
(5% of \$7,441.25)		GST ONLY f \$7,441.25)	\$372.06	
			Total	\$7,813.31
Payments & Credits				\$0.00
Balance Due				\$7,813.31

Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agree that we make no warranties of any kind unless expressed in writing. You hereby authorize us to perform the repair work herein set forth and to purchase the necessary material and parts to perform such repair work. You agree that we are not responsible for loss or damage to your vehicle or articles left in your vehicle in case of fire, theft, or any other cause beyond our control or for any delays caused by unavailability of parts or delays in part shipments by the supplier or transporter. In addition, you agree that we are not responsible for damages

to your vehicle from freezing due to lack of antifreeze. You hereby grant our employees permission to operate your vehicle on streets, highways, or elsewhere for the purpose of testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is granted to secure payment of this invoice for the repair work detailed in this invoice.